
MERIT PAPER – 01 SCHEME 
 

01) 1 
02) 5 
03) 4 
04) 5 
05) 1 
06) 3 
07) 1- Customer  

2- Customer Details  
3- Supplier 
4- Payment or Invoice  
5- Preparing and Agreeing estimate 
6- Agreed estimate  
7- Materials provided  
8- Job Schedule  
9- Start date confirmation  
10- Customer Name 

08)  

09) (i) The combinational circuit has one output, it generates and 
doesn’t depend on any of its previous inputs  
     Sequential circuits are the ones that depend on past as well as 
previous inputs for generating output. 
(ii) Q – 1 
      Q’ – 0 
 
 
 
 
 
 



10)  a) i) 

 
   ii) 

 


